—0.15F b

Ratio

< 0dy > (Um)

< opJp, > (%)

Ratio

< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

]
o
NN

[y
o

.............

...........................

...........................

0.5

-1 0 1 2 3

TP n (PCA to beamline)

< dcot(6) >
o
[
[¢)]
IIIIIIIIII

................

...................

...................

mveuur TOOOBVT
|
4 T000evt

100
t cpe ?Cl 00e vt

(o]
T

(2]
T

N
T

20k

..... A e
..... - e
4 I H
..... A R

- PR . [
PR 1 P 1 PO I PR A
b BE-S---- A
W 4 B

-1 0 1 2 3

TP n (PCA to beamline)

.............

.............

.............

[
iy
L LARRNRRRREI

.............

|
w

1 0 1 2 3

TP n (PCA to beamline)

1 2 3

< 8d,> (um)

g i
R SR & 1 2
g :

O

¥ :
AL S S
.............
I PR
| I I

-1

0

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


